Py &

Math 108: Exam 1 Name

Spring 2016 Instructor
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Score

- Calculators are not permitted for this test.
- Show your work unless the problem requires only a short answer.
- There are problems on both front and back of the pages.
- If you need scrap paper, ask your instructor. You may not use your own. If you do use scrap
paper. maka sure to hand it in atthe end of the exam. ,

« 1. (6 points) Rewrite the expression so that it contains only positive exponents. Simplify your
answer as much as possible.
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2. (8 points) Simplify each expression completely:
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4. (6 points) Multiply and simplify (combine like terms
6 points ( ):
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5. (6 points) Divide. Simplify your answer as much as possible. Specify any necessary domain
restrictions.
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6. (8 points) Rewrite 5x2 + 30x + 4Tasthe sumofa perfect square and a constant by using the
method of Completing the Square. Your answer should be in the form: a(x — h)? + k.
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7. (8 points) Use long division to divide: ¥ o18xi45u42
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6. (22 points) Solve each of the following equations for x.
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c) 3x3 +5x2—12x-20=0
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7. (16 points) Suppose f(x) = —

a) Find the domain of f.
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b) Show that f is a one-to- on%ctlon usmg the definition of one-to-one.
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c) Find f~*(x), the inverse function of f. \ NGW} S5 — Wm&% F \‘:ﬁ “+ : e;};%
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a) Find the domain of 1. Express your answer using interval notation.
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b) Evaluate f(—3) — (, 3\> - =

c) Evaluate f(5) - — ?/LS\"T L%

d) Is f a one-to-one function? Give a specific reason why or why not.
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9. (16 points) Suppose f(x) = — and gx) =v6—2x

a) Find the domain of f.
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e) Is f an even function, odd function, or neither? Justify your answer algebraically.
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f) Is g an even function, odd function, or neither? Justify your answer algebraically.

q(x # @{“@ oo 4l wob o edtm

6 (=) = F’“’“"’X
wgbsm,

Neitbac
i




